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SN E8H
M SHE AIH S
SRl BAF & S3AIE 2 (chel: &)
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
101 el 34,549 34,908 A 359
04 JIZtMIZ22XSE =+ 34,549 34,908 A 359
OFAr2t2| 11,438
—Jl2a 34,9103 » 18 » 260 9,077
—= ERsS5L+H 34,910& * 19 * 37 1,292
—4UEE= 10,369,000& = 0.103 1,069
O=0IXXIHEH 2el 23,111
—Jl=s 34,910% » 2 = 200 20,248
— 522 34,9108 * 28 * 41 2,863
201 LetEIH| 7,882 11,842 23,960
01 AtER22/Hl 1,452 1,452 0
Ogt==2H| 1,452
—EAMNRZHEAR 121,000& = 123 1,452
02 Z==2234l 6,430 10,390 23,960
(@) K=3:] 1,300& = 304 * 10 390
OAl &&= Xl 3,000, 000& 3,000
OXtgtd et 3,040
- |RFH 1,7002 = 1004 = 123 2,040
— XE=EHI(EHOI0 LA S) 1,000, 000& 1,000
401 AlSHIL SO 56,000 20,000 36,000
01 Al&H| 56,000 20,000 36,000
OHEAMN ANEE RNE= 56,000
—EAFHES O E ALY 25,000, 000& 25,000
—25 St = 20,000,000& 20,000
—&10) E2xZA(E0E L HBHHA) 11,000,000& 11,000




SN CHE
BB CHO A
Sl BA L BTAL 22 (el &2
- _ _ NUE &
SH-HH . G(BH) - NRAY - BES 0f &k o8 il it o HRZ2
405 THAHF S 1,856 1,500 356
01 RAUSEHSH| 1,856 1,500 356
Oslolg Xt 2 310,000 * 24 620
Oslolg Xt 2 19,0008 * 42H 436
ooxgsta 7 400,000 * 2CH 800
ITANL2E 63,400 49,200 14,200
201 2sr2 | 23,400 19,200 4,200
2 ZZ2YH) 23,400 19,200 4,200
OZ223 2 HAl 23,400
~ #IIR3 23,400
2 (HUS) 4,008 * 3005 * 122 14,400
esS(8Ys) 50,0008 * 155 * 122 9,000
401 AIZHIL 2O 40,000 30,000 10,000
01 Al&tt] 40,000 30,000 10,000
OZZAEE 8N L 4BFHTY) 40,000,000% 40,000
HHSABH(CH ) 84,515 84,245 270
Il =2 (S HB) 84,515 84,245 270
JEEEE==) 84,515 84,245 270
201 2er2 | 39,395 39,125 270
01 ALR2lt] 30,725 30,625 100
ogersg| 13,000, 000! 13,000
osg+g 12,025
— Y| 50,0008 * 1% * 1162 5,800
— =Ny 25,0008 * 1% 2492 6,225
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SN E8H
HH: HYSHFY (SH)
Sl JI2ZH(S) CERE
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
Oon=dl 80,000& 39 240
O= &l 5,000& = 1398 » 7 » 123 5,460
02 2323l 8,670 8,500 170
OZ232= ¥ MAl 8,670,000& 8,670
202 O4Hl 32,600 32,600 0
01 SUWAHYI 1,400 1,400 0
OJI2d8Fd 1,400,000& 1,400
02 EHNHI 31,200 31,200 0
O M 200,000& = 13 = 12& 31,200
203 HRF4HI 10,120 10,120 0
01 JI22F L= 6,600 6,600 0
OJ22Z =L 550,000& = 128 6,600
02 HANMHRF=EHI 520 520 0
OFJIMNAHRFAHI 40,0003 = 13H 520
04 RA2ILRF=LH 3,000 3,000 0
ORM2IYEF=LH 250,000& = 123 3,000
204 NP4 AY| 2,400 2,400 0
01 HUZ YDA 2,400 2,400 0
ogE 150,000& = 12& 1,800
(O e FSy 50,000& * 123 600




